[ Efficiency vs vertpos |
~ 0.7
£0.09
g
20.08
(8]
§0.07
QL
£0.06
0.05,
0.04
0.03
0.02

0.0

-
=
i &

P "
e
n

[
[)

he
e

Ratio
=

o
0

I RRE S AR AR LR BN RSN LA LARRN LA R LA R LR RRRE ERRRNRRRR

o
)

1

[EnN
2
N
=
o
N

10 0?
TP vertr (cr%)

T |_or|g|n§l_|owrn
TT _newbranch_lowpt
TT_original_lowpt_pLess
TT newbranch_lowpt_plLess

<4

DQ
DQ
Efficiend —— B3

0.0t T I g%i‘ .ﬁ il

| L'f el
W

-30 -20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
2.0.09
S
#0.08
£0.07
3
£0.06
Q
o
£0.05
3]
0.04
0.03
0.02

0.0

20515 -10 5 0 5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


